run 1710, -1060 V, |_pe= 0.7 nA, 120 Hz

@

Event

Events,

Events,

[N avg = 9.6166+02 (05 %) J0-asymo
0.2 0.05% ND filter..i..... 4 e 199

100pLE SO ‘:'E" I Mean 003865
b |RMS 0.001939

8o : .

GO:— --------------------

40:— --------------------

20:— -------------------

e ol fla-n e
09320034 003 0038 004 0042 0044 0046

A

LED

MN_avg = 2664e+04(257%)
100_25 + 2. 5% ND fILt-el:..

80
60
40

20

o

N

h0_asym3

Entries 1199
Mean 0.03878
RMS  0.0004208

ieer] 1 i i i i
37 0.0375 0.038 0.0385 0.039 0.0395 0.04 0.0405 0.041 0.0415 0.042

LeD

N_avg = 1.038e+05 (100.0%) ;
100_].OO% (No fllter)....E..

h0_asym6

Entries 1200
Mean 0.03915
RMS  0.0003502

Events

Events,

Events,

'°IN_avg = 5.238e+04 (50.5 %) _ th—asytho
[ . iy : : : : ntries
[.56 + 59 ilter. ...

wof-54 £ 5% ND filter. Mean 0.03885
L RMS  0.00039

80 " T

60 :—

.

20 -—

0%37 0.035 .038 0.0385 0.039 0.0395 04 0.0405 0.041 0.0415 0.042

"[IN_avg = 8.280e+04 (79.8 %) hQ_asym4
[ 7é N 5'0/ N.D f'llt : : : | Entries 1199

wop = £ = 70 ': SF Mean 0.0389
[ RMS  0.0003458

80 _— 0 0

60 :—

40 :—

20 -—

0%37 0.0375 0.38 0.0385 0.039 0.0395 04 0.0405 0.041 0.0415 0.042

N vg = 97326703 (049 T|10_asym7’
N 0 + 10/' ND.f'lt : : : Entries 1198

ook SR, : ef Mean  0.03895
[ RMS  0.0006353

80 _— D 0

60 :—

aof-

20 -—

120

Events.

=

00

80

60

40

20

120

Events,

37

_avg = 6.573e+04 (63.3 %)
.63 + 5% ND filter ... ;.

ooohl n . . .
0.0375 0.038 0.0385 0.039 0.0395 0.04 0.0405 0.041 0.0415 0.042

hO_asym?2

Entries 1200

‘1Mean  0.03893
|RMs  0.0003969

LED

_avg = 4. 165e+04 (40 1 %)
4£) + 4% ND fulter.......g.

hO_asym5

Entries 1200

1 Mean 0.03877
1|RMS  0.0003947

80—
60 -—
af
20 -—
AR T N T T N
0%37 0.0375 0.038 0.0385 0.039 0.0395 0.04 0.0405 0.041 0.0415 0.042
o
@500 hPed_asym
=N _avg = 6.152¢-03 (0.0%) €d_asy
a [ h Cl i Entries 48531
aoofo e Close Mean -4.882e-06
3 5 RMS  0.0003187
1500~ - v
1000 -— ' '
500 -— : :
OO 02 -0.0015 -0.001 -0.0005 0.001 0.0015 0.002




	Contents
	Page 1


